
 

 

 

 

1.  Solve the following inequalities. 

 

i)  𝟑𝒙 + 𝟏 < 𝟓𝒙 − 𝟒 

(Solution):     3𝑥 + 1 < 5𝑥 − 4 

3𝑥 − 5𝑥 < −4 − 1 

−2𝑥 < −5 

−2𝑥

−2
<

−5

−2
 

𝑥 >
5

2
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝒙 >
𝟓

𝟐
} 

 

ii) 𝟒𝒙 − 𝟏𝟎. 𝟑 ≤ 𝟐𝟏𝒙 − 𝟏. 𝟖 

(Solution): 4𝑥 − 10.3 ≤ 21𝑥 − 1.8 

4𝑥 − 21𝑥 ≤ −1.8 + 10.3 

−17𝑥 ≤ 8.5 



 

−17𝑥

−17
≤

8.5

−17
 

𝑥 ≥ −0.5 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝒙 ≥ −𝟎. 𝟓} 

 

iii) 𝟒 −
𝟏

𝟐
𝒙 ≥ −𝟕 +

𝟏

𝟒
𝒙 

(Solution):4 −
1

2
𝑥 ≥ −7 +

1

4
𝑥 

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑏𝑦 4 𝑜𝑛 𝑏𝑜𝑡ℎ 𝑠𝑖𝑑𝑒𝑠 

4 × 4 − 4 ×
1

2
𝑥 ≥ 4 × −7 + 4 ×

1

4
𝑥 

16 − 2𝑥 ≥ −28 + 𝑥 

−2𝑥 − 𝑥 ≥ −28 − 16 

−3𝑥 ≥ −44 

−3𝑥

−3
≥

−44

−3
 

𝑥 ≤
44

3
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝒙 ≤
𝟒𝟒

𝟑
} 



 

iv) 𝒙 − 𝟐(𝟓 − 𝟐𝒙) ≥ 𝟔𝒙 − 𝟑
𝟏

𝟐
 

(Solution): 𝑥 − 2(5 − 2𝑥) ≥ 6𝑥 −
7

2
 

𝑥 − 10 + 4𝑥 ≥ 6𝑥 −
7

2
 

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑏𝑜𝑡ℎ 𝑠𝑖𝑑𝑒𝑠 𝑏𝑦 2 

2𝑥 − 2 × 10 + 2 × 4𝑥 ≥ 2 × 6𝑥 − 2 ×
7

2
 

2𝑥 − 20 + 8𝑥 ≥ 12𝑥 − 7 

10𝑥 − 12𝑥 ≥ −7 + 20 

−2𝑥 ≥ 13 

−2𝑥

−2
≥

13

−2
 

𝑥 ≤ −6.5 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝒙 ≤ −𝟔. 𝟓} 

 

v) 
𝟑𝒙+𝟐

𝟗
−

𝟐𝒙+𝟏

𝟑
> −𝟏 

(Solution): 
3𝑥+2

9
−

2𝑥+1

3
> −1 

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑏𝑜𝑡ℎ 𝑠𝑖𝑑𝑒𝑠 𝑏𝑦 9 



 

9 ×
3𝑥 + 2

9
− 9 ×

2𝑥 + 1

3
> −1 × 9 

3𝑥 + 2 − 3(2𝑥 + 1) > −9 

3𝑥 + 2 − 6𝑥 − 3 > −9 

−3𝑥 − 1 > −9 

−3𝑥 > −9 + 1 

−3𝑥 > −8 

−3𝑥

−3
>

−8

−3
 

𝑥 <
8

3
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝒙 <
𝟖

𝟑
}  

 

vi) 𝟑(𝟐𝒙 + 𝟏) − 𝟐(𝟐𝒙 + 𝟓) < 𝟓(𝟑𝒙 − 𝟐) 

(Solution): 3(2𝑥 + 1) − 2(2𝑥 + 5) < 5(3𝑥 − 2) 

6𝑥 + 3 − 4𝑥 − 10 < 15𝑥 − 10 

2𝑥 − 7 < 15𝑥 − 10 

2𝑥 − 15𝑥 < −10 + 7 



 

−13𝑥 < −3 

−13𝑥

−13
<

−3

−13
 

𝑥 >
3

13
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {
𝟑

𝟏𝟑
} 

 

vii) 𝟑(𝒙 − 𝟏) − (𝒙 − 𝟐) > −𝟐(𝒙 + 𝟒) 

(Solution): 3(𝑥 − 1) − (𝑥 − 2) > −2(𝑥 + 4) 

3𝑥 − 3 − 𝑥 + 2 > −2𝑥 − 8 

2𝑥 − 1 > −2𝑥 − 8 

2𝑥 + 2𝑥 > −8 + 1 

4𝑥 > −7 

4𝑥

4
>

−7

4
 

𝑥 >
−7

4
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝒙 >
−𝟕

𝟒
} 



 

viii) 𝟐
𝟐

𝟑
𝒙 +

𝟐

𝟑
(𝟓𝒙 − 𝟒) > −

𝟏

𝟑
(𝟖𝒙 + 𝟕) 

(Solution): 2
2

3
𝑥 +

2

3
(5𝑥 − 4) > −

1

3
(8𝑥 + 7) 

8

3
𝑥 +

10

3
𝑥 −

8

3
> −

1

3
(8𝑥 + 7) 

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑏𝑜𝑡ℎ 𝑠𝑖𝑑𝑒𝑠 𝑏𝑦 3 

3 ×
8

3
𝑥 + 3 ×

10

3
𝑥 − 3 ×

8

3
> −3 ×

1

3
(8𝑥 + 7) 

8𝑥 + 10𝑥 − 8 > −8𝑥 − 7 

18𝑥 − 8 > −8𝑥 − 7 

18𝑥 + 8𝑥 > −7 + 8 

26𝑥 > 1 

26𝑥

26
>

1

26
 

𝑥 >
1

26
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝒙 >
𝟏

𝟐𝟔
} 

 

2: Solve the following inequalities. 



 

i) −𝟒 < 𝟑𝒙 + 𝟓 < 𝟖 

(Solution): −4 < 3𝑥 + 5 < 8 

𝑆𝑢𝑏𝑡𝑟𝑎𝑐𝑡 5 𝑖𝑛 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 

−4 − 5 < 3𝑥 + 5 − 5 < 8 − 5 

−9 < 3𝑥 < 3 

−9

3
<

3𝑥

3
<

3

3
 

−3 < 𝑥 < 1 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {−𝟑 < 𝒙 < 𝟏} 

 

ii) −𝟓 ≤
𝟒−𝟑𝒙

𝟐
< 𝟏 

(Solution): −5 ≤
4−3𝑥

2
< 1 

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑏𝑦 𝑖𝑛 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 

2 × −5 ≤ 2 ×
4 − 3𝑥

2
< 2 × 1 

−10 ≤ 4 − 3𝑥 < 2 

𝑆𝑢𝑏𝑡𝑟𝑎𝑐𝑡 4 𝑏𝑜𝑡ℎ 𝑠𝑖𝑑𝑒𝑠 𝑖𝑛 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 

−10 − 4 ≤ 4 − 3𝑥 − 4 < 2 − 4 



 

−14 ≤ −3𝑥 < −2 

−14

−3
≤

−3𝑥

−3
<

−2

−3
 

14

3
≥ 𝑥 >

2

3
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {
𝟏𝟒

𝟑
≥ 𝒙 >

𝟐

𝟑
} 

 

iii) −𝟔 <
𝒙−𝟐

𝟒
< 𝟔 

(Solution): −6 <
𝑥−2

4
< 6 

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑏𝑜𝑡ℎ 𝑠𝑖𝑑𝑒𝑠 𝑏𝑦 4 

4 × −6 < 4 ×
𝑥 − 2

4
< 6 × 4 

−24 < 𝑥 − 2 < 24 

𝐴𝑑𝑑 2 𝑖𝑛 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 

−24 + 2 < 𝑥 − 2 + 2 < 24 + 2 

−22 < 𝑥 < 26 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {−𝟐𝟐 < 𝒙 < 𝟐𝟔} 



 

iv) 𝟑 ≥
𝟕−𝒙

𝟐
≥ 𝟏 

(Solution): 3 ≥
7−𝑥

2
≥ 1 

𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑏𝑦 2 𝑖𝑛 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 

2 × 3 ≥ 2 ×
7 − 𝑥

2
≥ 2 × 1 

6 ≥ 7 − 𝑥 ≥ 2 

𝑇ℎ𝑒𝑟𝑒 𝑎𝑟𝑒 𝑡𝑤𝑜 𝑝𝑜𝑠𝑠𝑖𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠 𝑡𝑜 𝑤𝑟𝑖𝑡𝑒 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 

6 ≥ 7 − 𝑥 
6 − 7 ≥ 7 − 𝑥 − 7 

−1 ≥ −𝑥 
1 ≤ 𝑥  

7 − 𝑥 ≥ 2 
7 − 7 − 𝑥 ≥ 2 − 7 

−𝑥 ≥ −5 
𝑥 ≤ 5 

 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝟏 ≤ 𝒙 ≤ 𝟓} 

v) 𝟑𝒙 − 𝟏𝟎 ≤ 𝟓 < 𝒙 + 𝟑 

(Solution): 3𝑥 − 10 ≤ 5 < 𝑥 + 3 

𝑊𝑟𝑖𝑡𝑒 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 𝑖𝑛 𝑡𝑤𝑜 𝑝𝑜𝑠𝑠𝑖𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠 

3𝑥 − 10 ≤ 5 
3𝑥 − 10 + 10 ≤ 5 + 10 

3𝑥 ≤ 15 

5 < 𝑥 + 3 
5 − 3 < 𝑥 + 3 − 3 

2 < 𝑥 



 

𝑥 ≤ 5 
𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝟐 < 𝒙 ≤ 𝟓} 

 

vi) −𝟑 ≤
𝒙−𝟒

−𝟓
< 𝟒 

(Solution): −3 ≤
𝑥−4

−5
< 4 

𝑊𝑟𝑖𝑡𝑒 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 𝑖𝑛 𝑡𝑤𝑜 𝑝𝑜𝑠𝑠𝑖𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠 

           −3 ≤
𝑥−4

−5
      

(−5)(−3) ≤ (−5)
𝑥−4

−5
 

15 ≥ 𝑥 − 4 
𝑥 ≤ 15 + 4 

𝑥 ≤ 19 
 

         
𝑥−4

−5
< 4                  

(−5) ×
𝑥−4

−5
< (−5) × 4 

𝑥 − 4 > −20 
𝑥 > −20 + 4 

𝑥 > −16 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {−𝟏𝟔 < 𝒙 ≤ 𝟏𝟗} 

 

vii) 𝟏 − 𝟐𝒙 < 𝟓 − 𝒙 ≤ 𝟐𝟓 − 𝟔𝒙 

(Solution): 1 − 2𝑥 < 5 − 𝑥 ≤ 25 − 6𝑥 

𝑊𝑟𝑖𝑡𝑒 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 𝑖𝑛 𝑡𝑤𝑜 𝑝𝑜𝑠𝑠𝑖𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠  



 

            𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {−𝟒 < 𝒙 ≤ 𝟒} 

viii)   𝟑𝒙 − 𝟐 < 𝟐𝒙 + 𝟏 < 𝟒𝒙 + 𝟏𝟕                                

(Solution): 3𝑥 − 2 < 2𝑥 + 1 < 4𝑥 + 17 

𝑊𝑟𝑖𝑡𝑒 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑖𝑒𝑠 𝑖𝑛 𝑡𝑤𝑜 𝑝𝑜𝑠𝑠𝑖𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠 

3𝑥 − 2 < 2𝑥 + 1 
3𝑥 − 2𝑥 < 1 + 2 

𝑥 < 3 
 

2𝑥 + 1 < 4𝑥 + 17 
2𝑥 − 4𝑥 < 17 − 1 

−2𝑥 < 16 
−2𝑥

−2
<

16

−2
 

𝑥 > −8 
𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {−𝟖 < 𝒙 < 𝟑} 

 

1 − 2𝑥 < 5 − 𝑥 
1 − 2𝑥 + 𝑥 < 5 − 𝑥 + 𝑥 

1 − 𝑥 < 5 
1 − 𝑥 − 1 < 5 − 1 

−𝑥 < 4 
𝑥 > −4 

5 − 𝑥 ≤ 25 − 6𝑥           
 
5 − 𝑥 + 𝑥

≤ 25 − 6𝑥 + 𝑥 
5 ≤ 25 − 5𝑥 

5 − 25 ≤ 25 − 5𝑥 − 25 
−20 ≤ −5𝑥 
−20

−5
≤

−5𝑥

−5
 

𝑥 ≤ 4 


